=LFDb

3UDFRZQLN 5RINGDG GU KDE %L]LRU SHQDWD 7\J

F]ZDUWHN

ZVSyi SRVIFINIQ\ iZ
GU KDE %L]LRU SHQDID =
(

7\6]

6I\ILVIAND SUDNINF]QD
iZ GUKDE %]IRY
5HQDID * (

o
™
7N 7™ 7™NJ 7™
= JIHQQINDWNL ZDUiDI *DPDI\ND RSIVRZD - XUXUD ICTND L - XIIXURZH NRQIHNVIN
_ 7\6] ICT\NRZ\ GU KDE %L]LRU IE] SRIVNIHIR GZ G NRPXQINDFIL GZ GU KDE IE]\ND GZ GU KDE
T = VSyiF1RY, SHQDID = ( KDE %L]IRU SHQDID = ( %L]IRU SHQDID = ( %L]IRU SHQDID = (
= QH .20387(52:$ )3/ = -0/ = .0/ =
= NRQFHSFIH -0/ -
N IET\ND G
KDE %L]IRU
SHQDID =
¢
7N 7\6] 7\6] 7\G]
GINLVINND SUDNINF]QD 7HRUD IC]\ND Z GU = JUHQQINDUVNL ZDUV DN ~ XUXUD ICT\ND L
iZ GUKDE %LJIRU KDE %L]IRU SHQDID = ( IC]\NRZ\ GU KDE %L]LRU NRPXQINDFIL GZ GU KDE
- VSyiF1HY] SHQDID = )3 .20387(52:$ SHQDID = %L]IRU SHQDID = (
QH /- .20387(52: % .20387(52: %
NRQFHSFIH
IET\ND G 7\6]
a KOE “L1LRY - XUXURZH NRQIHNVIN
o SHQDID ICI\ND Z GUKDE %L]IRY
x C 5HQDID = (
T )3/ .20387(52: %
7N
7HRUD ICJ\ND Z GU
KDE %L]LRU SHQDID = (
.20387(52: %
30 = * )3
(o] -1
7\6]
2SIV V\VIHPRZ\

3w

6R




